PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
6th August 2016, 09:00 AM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

The term of office of the Governor is / JSUTA BT HIADIA %’_l
® 3 Years/3 a4
® 4Years/4dy
® 5Years/5dY
® 6 Years/6dy
Correct Answer :-5 Years / 5 9
2)
Question Stimulus :-

B.C.Roy Award is given in the fieldof /. F.IATRWOR__ Faadfearwmars
® Journalism / TBTIAT
® Medicine / NSy
® Theatre / ﬁI'QE?
* Social Work / JTHTIST® BT

Correct Answer :-Medicine / 3T

3)
Question Stimulus :-

Who was the first chairman of UIDAI? / q\&n'éﬁqaﬂ's‘ & ‘Tﬁ'ﬁ FIRAT BT A2
® Nandan Nilekani / 5 fAa@of}
e Kiran Mazumdar Shaw / f60T Is[AgR =it

® SR Patil / TH3IR Ulfed

()



® RK Mishra / 3R 41

Correct Answer :-Nandan Nilekani / ¢ fFraiouft

4)
Question Stimulus :-
CANCELLED

What is one of the serious problems of Irrigation in Madhya Pradesh? / yer o ﬁ'ﬁl’lg # iR guwren o
W TS 1 3?2

e Water Seepage / UM! Iq
® Floods / dT@
® Water logging / ST¢1 HRTd

® Droughts / dT

Correct Answer :-Water logging / STd HRTd

5)
Question Stimulus :-

National Sports Talent Search Scheme has been formulated for talent identification in the age group of ./

P W Ui @i FieT g o | ufauT 91 uger & e gl
® 10-25 years / 10-25 9
® 18-25years/18-25 94
* 18-30 years / 18-3099
® 8-12 years / 8-12 CL

Correct Answer :-8-12 years / 8-12 a8

6)
Question Stimulus :-

International Yoga Day is celebrated on:/ m@’q T fea 9 &1 v < @
e 21St jJune / 21 SH

e 10" December / 10 feHaR

@)



* 6" December /6 ﬁﬂﬁﬂ'

e 8™ March /8 |TH
Correct Answer :-21St jJune / 21 5H
7)

Question Stimulus :-

Which rivers flow from the eastern side to the west side of the state? / P A Afeat a0 & ufyT 3 Qﬁ%@
B 3R Tgedl 32

® Mahanadi and Tapti / 'HFIT'E‘P[ 3 aTa

® Narmada and Tapti / T-Iﬁ?,’[ Gﬁ?’ aralt

® Godavari and Mahanadi / Tﬂ?ﬁﬁ 3R 'FIFI_"Iﬁ

® Taptiand Sindhu / AT 3R iy
Correct Answer :-Godavari and Mahanadi / Merast 3R HETAS
8)

Question Stimulus :-

‘Skirmish’ is related to ‘war’ in the same way as ‘Disease’ is related to / ’ﬁ't,’»'l'sz;’ et ‘&’ T Sl ypR 9 % o
o5 ‘Jurt’ gu defta §

® Infection / IshHUI
® Epidemic / HFITI'I'\ﬁ
® Ppatient / e
® Medicine / am‘s‘
Correct Answer :-Epidemic / H8THRI

9)
Question Stimulus :-

Ustad Amjad Ali Khan is associated with which of the following instruments? / 3¥il¢ 3HGIq 3relt W g are

oA ® ¥ fpad fag o= o 32
° Sarod/ﬂ'\ﬁ_c{

o Sitar /AR
4)



® Tabla / dddl

® Flute / FigT

Correct Answer :-Sarod / IR1¢

10)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe gﬁrq
St fow T HyAY vd fewul & v A 9El g1

Statements: / ®YH:

All games are movies / 9! Ta IafaT &
All movies are bags / 94 TafoT 4 &
Conclusions: / fem:

I. All games are bags / it we da &

I1. All bags are games / I3 34d @7 &

® Only conclusion | follows / Faqa sy I Hpadr %

® Only conclusion I follows/aﬁﬁ forem 1) Freaar %

® Both conclusion l and Il foIIows/E’Fﬁ. e 1 3R 11 e %

* None of the conclusion I or II follows / A=Y I G II § | »1 1 Fpaar g
Correct Answer :-Only conclusion I follows / Pad ey I feedr %

11)
Question Stimulus :-

A,B,C,D and E are five rivers. A is shorter than B but longer than E. C is the longest and
D is a little shorter than B and a little longer than A. Which is the shortest river? /

A,B,C,D 3R E Urd Afeai €1 A, BA BII 8 W E IV @dl 21 C Had oial g 3R D, B A 4ISt DI g ik A
I dIS! |l g1 999 DIl 76 B 3t @

m © O W

(®)



Correct Answer :-E

12)
Question Stimulus :-

The jumbled letters of words are given below. Each letter has been numbered. Choose the
option which gives the correct order of the letters as indicated by the numbers to form

meaningful word. / X<l & TG &R I oA T & yA® 3ieR &I HEnfepd foar T 8] 98
e gFA i O g B A1 F R T=sil & U A 3ieRY &1 T8l B 3T 7]

EOCDLI

123456
e 3,24,5,6,1
e 3,2,54,6,1
* 4,2,3,5,6,1
* 4,2,3,6,51
Correct Answer :-4,2,3,6,5,1

13)
Question Stimulus :-

What is the total number of caves in Ajanta? / 3ISidT | '{[Ch_l'a'ﬁ L4 Pd @ frat %?
* 41
* 18
* 29
e 33
Correct Answer :-29
14)

Question Stimulus :-

In India, Green Revolution has been most successful in the case of- / HIRd s i Eﬁ'a Pifd & ATHA & a9 95 d
T 8:

® Sugarcane / AT

® Paddy/ YT

(6)



® Wheat /7§

® Maize / HahT
Correct Answer :-Wheat / 1§
15)

Question Stimulus :-

Select the statement that is the negation of the statement "Some politicians are

dishonest.” / 39 S B! T3 Sl 59 HYT BT UGS § "FO ITodT SSHH 817
e All politicians are honest. / gt IreAar é‘H'ITc."IT%I
®* Some politicians are dishonest. /WWQ@W?I
¢ No politicians are honest. /ﬁ'&F ﬁmmqﬁ’f?l
e Some politicians are honest. / W?‘Iﬁlﬁ?ﬂ gTI'HER%l
Correct Answer :-All politicians are honest. / Tt IeEar 'scFIFIHT\’ %’I
16)

Question Stimulus :-

This cricketer from Madhya Pradesh was the first Indian to score a Test Century overseas? / HYJ TSR T A

fipdes faewr § e xa® T aran Ugen YRR AUT?
e Syed Mushtaq Ali / Y¢S YTH 3t
e C K Nayudu / ¥l & 919G
* Vijay Merchant / fasTa Al
e Narendra Hirwani / X% fg¥arii

Correct Answer :-Syed Mushtaq Ali / 9 YATP 37ait

17)
Question Stimulus :-

Dice contains six letters from 1 to 6 on its six faces. Two Positions of Dice are shown

below: / TR & 6 AP & SHUR 1 T AP 6 &R 3ifhd & U 31 & 3w Hi fews 78 -



(i)

VY

Which of the following number appear at the bottom of the figure (ii)? / = (ii) ff,
e & 9 oM f 9o ad W uee g g

e 4
e 5
e 6
e 1
Correct Answer :-5

18)
Question Stimulus :-

Select the statement that is the negation of the statement "All used cars are unreliable.” /

I FYT B g o 39 HYT BT Ufaarg g "I sWue $1 g3 oR srfaygia g1
* No used cars are reliable. / SHE 1 g5 @5 W R Ay 781 €
e All used cars are reliable. / 3% ®1 g5 9t FR Iyaa §1
e Some used cars are reliable. / U H1 §3 T© BN AL §1
* Some used cars are unreliable. / ST P §8 O PR AAYT-T T
Correct Answer :-Some used cars are reliable. / STATT $1 §3 O PN QYT T

19)
Question Stimulus :-

Kanchenjunga National Park is in which State? / BT QTQTT ROIG] frg =0 | %?

® Jharkhand / SIREUS

® Shimla / R
(8)



e Sikkim / Rifeen
® Assam / 3IH

Correct Answer :-sikkim / RifdpH

20)
Question Stimulus :-

The Nagarjunasagar project is on the river / T'I'I"'I'IﬁTT INR uf¥AierT B T W %:
* Sutlej / TS
* Ravi / 34l
® Krishna / PWIT
® Gandak / ISP
Correct Answer :-Krishna / $WI
21)

Question Stimulus :-

Gaurav is the son of Bholu. Shefali is the daughter of Gaurav. Chutki is the daughter of Dabbu and Dabbu is the brother

of Bholu. What relation does Chutki bear to Shefali? / IR 1ﬁqm G| %I BTN MR BI a_c?f'%l @E’Eﬁ 3@\3%
I § 3R Sy WG T UTE 81 Tedt 3R Awhren & F1 e 82

® Aunt/ 3T

® Neice / WalTeil

® Mother / HTdT

e Cousin / IRT HTS
Correct Answer :-Aunt /9Tt
22)

Question Stimulus :-

If mobile phone is turned on, then if someone cries then the rotator rotates. The rotator is
rotating while the phone is on, then someone might cry. / Gﬁﬂﬁm P 3if forar mar %, Gl
gfe IS a1 ¢ o Aeex THaT 81 B B 3119 UMY w afe Adex ga w1 8, a9l 31 A goar 21

* True /'\‘:I'Eﬁ

©)



e False / Tdd
e Maybe / B 9&dl g
e Irrelevant / UERI®

Correct Answer :-True / 9gl

23)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting on a wall and all of them are facing east / A,B,C,D,E,F ARG
TP AR R Td F1 IR g fPU gu aS &

2. C is on the immediate right of D / D & fdepa a1g qIfeit sk Cc @

3. B is at an extreme end and has E as his neighbour / B T mﬁ% 3R E Wﬁ?ﬁ%
4. Gisbetween Eand F / E Gﬁ?F%@HﬁG%

5. D is sitting third from the south end / ﬁwﬁ%ﬁeﬂﬂ%w WD aBT%

Which of the conditions 1 to 5 given above is not required to find out the place in which A

is sitting? / SUJH & g3 1 | 5 UTa 37dl & ¥ fha®! o3 A 1 T8 F g & g g &2
|
e 2
e 3
* None of these / 578 ¥ DI ol

Correct Answer :-None of these / 94 | ®I5 gl

24)
Question Stimulus :-

Which Indian state is bordered by Bhutan, China and Myanmar? / DI | YR IT B e YT, drg-T
3R AR ¥ frerd 8

® Arunachal Pradesh / arwmu%sr

® Tripura/ ﬁ'ERT

® West Bengal / ¥y de

e sikkim / RifeeH

(10)



Correct Answer :-Arunachal Pradesh / Wﬂ%ﬂ

25)
Question Stimulus :-

__ is called the Temple city of India / ___ P! YR BT HieX e H8T oIl g
® Lucknow / TGS
® Bhubaneswar / '{{aﬁ’ﬂ?
® Durgapur / §1Tf§T
* Kolkata / PEIPIdl
Correct Answer :-Bhubaneswar / Ya4<
26)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe
ghe, st adb @1 =R A TR R W T & ga= 8

If it is hot, then it is difficult to drink. / af¢ g8 7 g, at 39 W91 gipa 21
e Ifitis not hot, then it is not difficult to drink. / af g T T8} €, 91 31 W41 qiepd 7|
e If it is hot, then it is not difficult to drink. /afe ag 7 §, df 38 W+ YiRwa 51 §1
e If it not difficult to drink, then it is hot. / afe 33 U= gfiXwa =15, ot a5 T 31
e If it not difficult to drink, then it is not hot. afe 38 W1 gi¥wa =Y, @) as T T8 81

Correct Answer :-If it not difficult to drink, then it is not hot. af¢ 33 W+ g¥®a -1&l, a1 a8
T T B

27)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawea gﬁl‘E
St faT T Sy wd fehuf & 9v § 9 2

Statements: / DY:
All sweaters are coats / Il Wex Fie %
Some shirts are sweaters / 9 T WeR %

(11)



Conclusions: / fAehd:
I. Some shirts are coats / $© X< BIC &

II. All shirts are coats / T4l T e &
® Only conclusion | follows / Fad e 1 Heaar %
® Only conclusion Il foIIows/W ferse 1 frean %
® Both conclusion land Il follows/E;':]T-ﬁ foreed 1 GﬁT 11 fFrped %’

* None of the conclusion I or II follows / FpY I T II # | B3 =g] Fpaar g
Correct Answer :-Only conclusion I follows / Bad frepd 1 feear @

28)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg favea gﬁE
Sl feT T SyHY wd fAehul & 9 § 9 2

Statements: / <UM:

All guitars are violins / I feRr aEfer &
All violins are lutes / W AR T&R &
Conclusions: / fAhd:

I. All guitars are lutes / 9t fileR ar e &
II1. All violins are guitars / I aEfer fieR &

® Only conclusion | follows / Fad ey 1 Aeaar %

® Only conclusion Il follows /aﬁﬁ foremd 1 fFreean %

® Both conclusion I and Il follows / G fosad 1 3R II fHiperd &

® None of the conclusion I or II follows / 1o & '\Qﬁg -'-I'Eﬂﬁﬁv_cﬁﬂ%
Correct Answer :-Only conclusion | follows / Fad ey 1 eedar %

29)
Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

(12)



third word. / % Uy #, Tgd 31 Weal & & WY Y §] Y el & § Dur v gAY SRy TR
g P AU S UPR BT TaY 2

RAIN: WATER::TORNADO:? /EITﬁ'-‘!T HAS [G IEHIG Lt &
e Cyclone / dshdld
e Wind / gdl
e Ice/ Th
* None of these / Eﬁﬁﬁﬁﬂﬁ

Correct Answer :~-Wind / &dl

30)

Question Stimulus :-

In the following diagram. / ra &Hﬁﬁ
« Circle S stands for households having a scooter;/ 31 S THex a1 URAR & forw 81
« Circle T stands for households having a TV set; / g9 T &4t arat uRar & forw 81

e Circle W stands for households having a washing machine; / 39 W {dTs 43 dTd URAR &

fere 21
¢ Circle C stands for households having a car. / G C PR I URaR & T%I'Q %I

Note: The different humbers indicates the non-over lapping regior)s. For ex_ample, s _
represents unions of regions 1,11,12,8,9,10 and 6. / 019 ¢: 3@ WU TR 3IPHdR &F B! ST
Pl 81 IGTeR0 & oY, S WRgd Pl § &g 1,11,12,8,9,10 3R 61

Households having only a car and not the remaining three items are represented by / a

TRIR oM U Had PR 8 R AT A9 3Mgey AL €, T sUP gRISRA T &__|

(13)



* Region5/ &35

e Union of region 4,5 and 7 / Sy 4,5 3R 7
* Region4 / 83‘7[ 4

e None of these / 578 9 P13 T8l

Correct Answer :-Region 4 / &7 4

31)
Question Stimulus :-

Which of the following districts does NOT belong to Rewa division? / FrafafeEa e & § @9 31 e Yar
HUTT BT 81 82

® Singrauli / RiRIeh

® Panna / Al

* Sidhi / Hi<h

® Satna / Hd-l
Correct Answer :-Panna / TAT
32)

Question Stimulus :-

If A+B means A is the daughter of B and B+C means B is the husband of C, how is A

related to C? / UG A+B HT3ad e fF A, BHI TH e vd B+cHaf g B, cowrufa g, A, c I fba
IE TR 82

® Aijsthe nieceofC/A,Ciﬁ‘l-l?ﬁFﬁ%
® AisthesisterofC / A,C @t dg- %

® Aisthe daughterofC / A,C &I Eﬁﬁ %
® Ajsthe brotherofC / A,C DI ‘-ﬂg %

Correct Answer :-Ais the daughter of C / A,C 1 g’ﬁ %

33)
Question Stimulus :-

Ratapani dam is located in ./ AT i H fRa %I

(14)



e Raisen District / AT foral

® Morena District / 'ﬂa_'ﬂ o

e Ratlam District / TaomH forat

® Dhar District / R foTel
Correct Answer :-Raisen District / IO ford
34)

Question Stimulus :-

There are five persons P,Q,R,S and T. One is foot ball player, one is chess player and one is
hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies play chess or football. There is a married couple in which T is the husband. Q is
the brother of R and is neither a chess player nor a hockey player. / uTg e P,Q,R,S AT
?1 T8 @ Uo poaid R 7, T Taie [Aare § ok uo gi) feae) 21 P iR s sifdaifea afeemt &
R el Qo | ey 78 adt 81 379 ¥ 318 WY vl Ik 1 Beard A8 Wad! 21 T Qe sier ¢
ord T ufd 81 Q, R &1 WIE & oM 7 &) wravs faanst @ 7 &1 gia! et

Who is the hockey player? / ﬁﬁf@aﬁ,"rﬁq %?
¢ P
- Q
R
e S
Correct Answer :-R

35)
Question Stimulus :-

Who among the following was NOT elected to the Rajya Sabha from Madhya Pradesh in June 2016? / ST 2016 H

T Yo=T A ISaHT & fore o d 3 foraet aa= =16t gom um?
e Anil Madhav Dave / 3f-Id AT4G gId
® Mobashar Jawed Akbar / HISTIR SITAG 3fHeR
® Vivek Krishna Tankha / fade® oot a=an

* Thaawar Chand / YTa3T¢

(15)



Correct Answer :-Thaawar Chand / Yd3qg

36)
Question Stimulus :-

The meeting at Jalianwallahbhag was organized to protest against the / SIferaiarar 0T § 9T frae faRiy |
3 & s f

® Minto-Morley reforms / Y wid gur

® Montague-Vhelmsford reforms / HieT %mé qunr
® Rowlatt act / e Uac

® Pitt’s India act /ﬁl’c{ﬂ HERIREG

Correct Answer :-Rowlatt act / Jd¢ Tac

37)

Question Stimulus :-

A call centre operates between India, Japan and US. India is 12 hrs ahead of US, and 6 hrs
ahead of Japan, while Japan is 6hrs ahead of US. India works between 10 AM till 15) PM,
where as US works from 8 AM till 8 PM and Japan works from 9AM to 9PM. / T &Id e
YRd, SIUH 3R 3MR®T & ol gadr 81 YRd 12 T 3MR®T T 3/ §, 3R 6 e WU I 3 §, 3R =

6 H¢ SMAR®T H 3N §1 URA YIg 10 To1 T I 10 Tol TP HTH HIdT § S1P AP Yag 8 To I I 8
o 9P BT HdT § 3R UM JIg 9 T A I 9 Il dF HTH Hal 2

A conference is to be held between US and Japan. What should be the earliest possible time when US can initiate the
conference with Japan? / 3T 3T SIUTH & T T BI3HH I B S 81 Sieg, I Seg GHT TAT 9T EIT
G BT ST F AT DI SHRH Y qhara?

® 8 AM US local ﬁme/WSﬁ'{Q’HWWW

® 9 AM US local ﬁme/WQﬁﬁWﬁWW

® 10 AM US local time / Jd8& 103@TEQ'H$[WW

® 11 AM US local time / &8 11 §o J T &1 R IHI

Correct Answer :-8 AM US local time / g8 8 I g T &1 R G947

38)
Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, _
share a common similarity while one is different. Choose the odd one out. / gy ﬁ,

T AR & WYE 3 M §, W WY, Faa 0@ F Srewr, UM & wais TP e § | fauw o) g |

(16)



e RTW
e QOM
e IKG
e IKM
Correct Answer :-RTW

39)

Question Stimulus :-

Prior to the independence of India, Goa was a / HIRd | B'I'I\_rl'l'tﬁ 3 tl%ﬁ, Mar AT
® British territory / fafesr 833[
® French territory /'Q‘Tm &}5[
® Spanish territory / ferer é&a
® Portuguese territory / Eﬂ"'l'l?ﬁ 833[

Correct Answer :-Portuguese territory/ﬂ?ﬁ'l'ﬁﬂ a=

40)
Question Stimulus :-
In a class of 35 students, Kunal is placed seventh from the bottom whereas Sonali is placed
ninth from the top. Pl,_llkit is plach exactly in between the two. What is Kunal’s position
from Pulkit? / 35 DI & Uh BT, G -1 A AAd WM R § 6P TR SW I Fld -FE R g1
gafepd aFl & fAepa a9 o 81 qaferd S - o1 71 R 82

9

® 10

* 11

* 13

Correct Answer :-10

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

(17)



Complete the series choosing the missing number: / ﬁﬁlﬁ =T PR @l ﬁIBT DI :

2,5,10,17,
° 20
* 26
°* 23
e 28
Correct Answer :-26
2)
Question Stimulus :-

CANCELLED

What is the value of k for which the equation will have one root equal to zero? / k &1 HH

orae ot THie~or &1 U@ 9@ YA & RIS SHI?

o k=-2
o k=1

e k=-1
e k=-3

Correct Answer :-k=-3

3)
Question Stimulus :-

(544/40)x 20 x(36/18)+(108x3)-(100/25)=?
® 549
® 563
* 3864
® 580
Correct Answer :-864
4)

(18)



Question Stimulus :-

In a code, MANAGERS is written as AMANEGSR. How is PRESSURE written in that code? / Th IS ﬁ, MANAGERS

P AMANEGSR Tor@T 14T | 53t s H PRESSURE T Y forr SiTaam?

® RPSESUER
® RPSUESER
® RPSEUSER
® RPESUSER
Correct Answer :-RPSEUSER
5)

Question Stimulus :-

A sold a table to B at profit of 15%.Later on B sold it back to A at a profit of 2% There by gaining Rs. 69.
How much did A pay for it originally? / A 5 B &I 15% ATH U3 TP A o411 I1¢ § B 7 aTUT A BT 2% & ATH R
o 39 3| foras 69 TUT &1 @1H g3l A+ Jd ¥U 9 59& A fha-n Yyear fear?

 Rs. 400 / FUT 400
* Rs. 200/ ¥UT 200
e Rs. 100/ %UT 100
* Rs. 300/ ¥UT 300

Correct Answer :-Rs. 300 / =0T 300

6)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / % 33 10 IR vl & @ 9 3 T vd & i IHH $I9 91 v 81 82

Precision Rafting Expeditions
P.O. Box 185
Friendsville, Maryland 21531

(301) 746-5290

(19)



(i) Precision Rafting Expeditions
P.O. Box 185
Friendsville, Maryland 21531

(301) 746-5290

(ii) Precision Rafting Expeditions
P.O. Box 185
Friendsville, Maryland 21531

(301) 746-5290

(iii) Precision Rafting Expeditions
P.O. Box 185
Friendsville, Maryland 21531

(301) 746-5290

(iv) Precision Rafting Expeditions
P.O. Box 185
Friendsville, Marryland 21531

(301) 746-5290

Correct Answer :-iv

7)
Question Stimulus :-

Of the 125 candidates who took an examination, 44% passed in all the subjects and 25
candidates failed in just one subject. What percentage failed in more than one subject? /
125 Ifigar] # |, oY i ue wden § e g€ A, 44% Tt fawal # S<iivf g€ e 25 Swiicar wm &
fawa ¥ fawa @1 fham ufazra te 9 ifte fawa o fawa w2

(20)



e 39

e 56

e 36

e 50
Correct Answer :-36
8)
Question Stimulus :-

In how many ways can we arrange 3 letters a,b and c by taking 2 letter at-a-time? / 3 3{&‘1?3[ a,b Gﬁ? | eH foa

el # afRud FR Fd ¢ afe Th IR | & 3HaR @2
° 2
e 3
e 6
e 1
Correct Answer :-6
9)

Question Stimulus :-

A man sold 2 radios at Rs. 924 each on one he gains 20% & on anothgr he losses 20%. How much does
he gains or loss in whole transaction? / T% 3T 2 ¥4t 924 Tuu # ufy IsH I=ar 8 3V TH W 20%
BT ATH BT 8 3R TH 31 R I 20% Pt g giell 71 IR TS § fpa=m ary a1 JHar= gian 82

* 3%
® 2%
® 4%
* 5%
Correct Answer :-4%

10)

Question Stimulus :-

(21)



Complete the series choosing the missing letter/s: / ﬁﬂ'ﬁ &R gD $Gal Bt T P :

X, VU, SRQ, ONML,

® GHIJK
® LKJIH
® JIHG
® JIHGF
Correct Answer :-JIHGF
11)

Question Stimulus :-

In a certain code language, kolek ta tej means early to bed; ala tejf meeg means common bed room. Which is the
word for tej in that code language? / fo<dft @ s vt 'el, kolek ta tej T Hddd % early to bed; ala tej meeg
PT HAAT & common bed room | STt BIS UTHT H tej & FoI€ T Teq; 32

® room

® bed

® ecarly

¢ common
Correct Answer :-bed
12)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination: / =1a & 7§ Tar 3eRl TH TBATSH BT SIHH TANT B! §| TTad JaleH Ugdi-a|

(i) PX1935YQ5
(ii) PX1935YQ5
(iii) PX1935YQ5

(iv) PX1953YQ5

(22)



® iii

® jv
Correct Answer :-iv
13)

Question Stimulus :-

If two dice are thrown, what is the probability that the sum is greater than 8? / IT% E,Pf TTI'\ﬁ o u %:, Gl
TYTST ¢ {5 3 arell 9t Tw=ms &1 a8 A it 2

® 2/9

° 1/6

* 5/18

° 1/3
Correct Answer :-5/18
14)

Question Stimulus :-

In a certain coded language, RISK is coded as 2398 and the code 1234567 represents
PRIVATE. What is the code for RIVETS in the coded language? / &l @RI Hidbfd® HTT ),
RISK &1 2398 | Hifsd fbar wirdr 8 8ik 1234567 ®1s PRIVATE SRITal §| 39 Hichfde H1aT #
RIVETS & o @l =1 ghm?

® 596432
® 798654
® 234769
® 357697

Correct Answer :-234769

15)
Question Stimulus :-
CANCELLED

The average of 1, 2, 3, and 4 is? / 1, 2, 3 3iR 4 FT 394 82

(23)



°* 20
e 23
e 25
° 27
Correct Answer :-25

16)

Question Stimulus :-

How many triangles are there in the following figure? / o \’rI'ITﬁT ¥ fpaq B %'?

Correct Answer :-6

17)

Question Stimulus :-

Complete the following sequence of figures. / GWﬁlTﬁ' & g w0 oI T B

(24)



=

Correct Answer :-

18)
Question Stimulus :-

Two numbers are in the ratio 7:11. The sum of these numbers is 9000. What is the first

number? / 7:11 3UTd § & TBATT § | $TPT $d SIS 9000 g1 UGSt ISAT T 82
° 4500
® 4000

® 3500

® None of these / Eﬂﬁﬁaﬁgqﬁ

Correct Answer :-3500

19)

(25)



Question Stimulus :-

Complete the series choosing the missing letter/s: / faqul 31&R D FGAT HI T HIfOIT :
abcd bcede cdef

® efgh

® fghi

® defg

® cdef
Correct Answer :-defg
20)

Question Stimulus :-

In a certain code language, hist men polt means my history book; polt hosg disa means history of India. Which is the
word for polt in that code language? / ol @rg Sis Y ﬁ, hist men polt BT Hddd % my history book; polt
hosg disa T Hddd % history of India | Il B WuT H polt & ﬁﬂ'{ RIT RWog %?

* my

® book

® history

® india
Correct Answer :-history
21)
Question Stimulus :-

In the following questi_on, one term in the number series is wrong. Find out the wrong
term. / 99 Uy ¥, 9@ 491 # TP UG TAd §| TAd US 7 BifoA| 4,6,8,24,96,480

. 480
- 6
.8
. 96

Correct Answer :-6

(26)



22)
Question Stimulus :-

What percent of Rs 2650 is 16432/ 2650 $UUT T fopd=T UFI=Id 1643 87
* 62%
® 60%
® 58%
* 64%
Correct Answer :-62%
23)
Question Stimulus :-

Complete the series choosing the missing number: / fAQW TBAT TADHR 9GaT BT TR HIfoQ :

1, 2,6, 24,120,

e 230
e 435
e 720
e 650
Correct Answer :-720

24)

Question Stimulus :-

- [[4%“%]45%—3%]“% . R R =
0
. 1
¢ 2

®* None of these / gﬂ'ﬁﬁaﬁ'&:qﬁ

(27)



Correct Answer :-1

25)
Question Stimulus :-

A train passes a platform in 36sec and a man standing on the platform in 20sec. If the speed of the train is 63kmph,

What is the length of the platform?/Waq%@ﬁﬁw Gﬁ?20@ﬁﬁwmﬁéwmﬁw
Hedl 81 afe 37 B Ty e3fpfi/der 8, 9t WewrH & TS w82

® 240 m/ 240 HY
* 260 m/ 260 HY
e 280 m/ 280 HI
* 300 m/300HT

Correct Answer :-280 m/ 280 HI

26)
Question Stimulus :-

The number 25 is subdivided into two parts, such that the smaller part multiplied by six is the same as the larger part
multiplied by four. The parts would then be: / H&IT 25 G| E;Pf U & ufgurfora e UPRR far siran % fo BT
¥ UM f5aT TR Biel U IR I YUF fHT T 9¢ UNT & TAT g1 | 99 YT g1

e 12,13
® 9,16
e 10,15
e 14,11
Correct Answer :-10, 15

27)
Question Stimulus :-

In what time will a train 120 meters long cross an electric pole, it its speed be 54 km/hr?/ 120 Hiew @t Uh atf

fpam wag § o faerell & 99 ot ur o, afe suet w1fa 54 fopdi/der 32
* 10sec/ 10 IPS
* 8sec/ 3 YHS
* 6sec/ 6 DS

(28)



* 5sec/ 5 DS

Correct Answer :-8 sec/ 8 9hs

28)
Question Stimulus :-

If TANGENT is coded as NATGTNE, how will MUSTARD be coded as? / df¢ TANGENT &1 NATGTNE & Hifed forar

WITdT €, @1 MUSTARD &1 &d Hisd fhdT STRART?

® MUSTDRA
® DRATMUS
® SUMTPRA
® SUMTDRA

Correct Answer :-SUMTDRA

29)
Question Stimulus :-
x% of y + y% of x =2/ y DI x% + x Pl y% =?
® x% of y/ y Bl x%
® y% of x/ x Pl y%
® 2% of xy/ xy Pl 2%
® xy% of 2/ 2 DI xy%
Correct Answer :-2% of xy/ xy Pl 2%

30)

Question Stimulus :-

A tap can fill a tank in 8 hrs, while another tap empties the tank in18 hrs. If both are opened at a time, then how
long will it take to fill the tank? / U% Td Ud ¢ I 8 el A U THdT g, TaP TP Gux] -1d ¢d &I 18
Hel o @relt Far g1 afe e @) T § 9Hg W arg fHar ot 8, @ ¢ B u=_ o fopan gwa e

| o—
U1||—~

e 14 *hrs / 14 ° |c

(29)



| ko
| o

e 14 " hrs /14 ~ Hc

R
| L

e 14 "hrs / 14

4
5

(W N

e 14 Shrs / 14 5 §cd

| o
Wi o

Correct Answer :-14 hrs / 14 ~ d¢

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

A physical quantity which requires both magnitude and direction for its complete specification is

Wifas ¥ forads gof fafifdezor & fore uftwmon iR fe=m =1 smawas gid §

® vector/ Tfe=r

scalar / Glﬁ'ﬂ
speed / fd

® mass / SHHTH
Correct Answer :-vector / Ifegl
2)

Question Stimulus :-

Cellular respiration occursin____ / PIR® C L] gﬂ'ﬁ Eﬁ?IT % .

e All cells of all organisms / TYT Sfal &t T HIf®1SM H

e Unicellular organisms only / $dd UHHIRIPIT Sitdl H |

® Plant cells only / W tﬁiﬁ @1 PIRBTSN H

® Animals cells only / Hadl mgaﬁ Dt BIfHISN A
Correct Answer :-All cells of all organisms / THT Sial Ht TG HITAPTSM H1
3)

(30)

/de



Question Stimulus :-

CANCELLED

AABC and ADEF are similar. Area of AABC is 9 cm? and area of ADEF is 64 cm?2.
If DE = 5.1 cm, find AB. / AABC 3R ADEF JH €| AABC &7 &7%d 9 9HI2 § 3R

ADEF &7 &7%d 64 9HI2 81 gfe DE =5.1 91, a1 AB fAw1feg]
13.6 cm / 13.6 QHI

14 cm / 14 I
8cm/8@1:ﬁ

10.2 cm / 10.2 9H1

Correct Answer :-13.6 cm / 13.6 9HI

4)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /:ﬂ% %Q' 0|

TP HT AT B 3R Ul BT IR S| (ST P T rgan~a goal R R 9)

During which of the following years import of goods was more than export of wheat? / ﬁ'H ﬁ' @' m a'q‘f % aTFT

Thousand Tonnes

§00
800
700
600
500
400
Juu
200
100

Export of goods & Import of wheat

il

OExpaort

mimport

21-82 83-34 g95-86 27-88 29-90

Year

Fegedl BT MTa g & fata I st A

1987-88

1981-82

1985-86

None of the above/m 7a ?ﬁ'{f T'I'E?f

(31)




Correct Answer :-1987-88

5)
Question Stimulus :-

Two circles, whose centres are A and B, intersect at the points C and D. Then

. / A ga, 9P F5 A 3R B €, C 3R D R ufasdg ®d g1 af

® ABis the perpendicular bisector of CD / AB IdteT co o fGHTSS HEI
® (D is the perpendicular bisector of AB / CD, AB DI ddq %‘H’Wﬁﬁ %

® ABis parallel to CD / AB, CD & THIR B

® ABCD forms a square / ABCD Udh CURSEIGH] %

Correct Answer :-ABis the perpendicular bisector of CD / AB dter co B feurs® B

6)
Question Stimulus :-

Which one of the following animals can sense even if the enemy approaches from behind? /ﬁl’H A9 B
T UT9ft /7 B HeGH HR Gohdl 8 Hd & F NS | 3me?

® Eagle /IS

e Owl/3IT

e Butterfly / foraent

® Crab /mT
Correct Answer :-Crab / $HS]
7)

Question Stimulus :-

Sanjeev lives in a hot place & has got his house painted in bright colours. The reason behind is /H'T:ﬂﬁ' T

TF H 35T § 3T T 3T TR Bl FHBER 30 A RIS Hamar 31 596 9 sRur g
® Bright colours absorb less heat / THHGIR T FH SHEHT ANy Hd %'I
e Bright colours absorb more heat / THHGR I 3ATUHF HEAT STMT F &l
e Bright colours keep the house warm / THHGR T TR &I TH 3@ Bl

* Bright colours make the house look beautiful. / THHGR T TR B Y3 ITd B

(32)



Correct Answer :-Bright colours absorb less heat / THDGR I HH HCHT TN yT Hed %I

8)
Question Stimulus :-

Areas near hospitals & schools are declared as / SRYdTe! 3R faemea &y & éﬂﬁ FEUH
o &

® Horn, sound ,please /377?, 'iﬂﬁ, Cal

® No horn zone /Fﬁqﬁ &h

® Danger zone /E?ﬁ' Gal 83'2’

e Safety zone / gR&T BT 8337
Correct Answer :-No horn zone / 814 gl &F
9)
Question Stimulus :-

In which part of the plant body will you find haploid number of chromosome? / UT¢U %.3 & fpg wr Gl'ﬂﬁ'l'ﬂ
UGS UM ST 82

® Gametes / JUHD
® Zygote / QIHAG
® Ppollen / IR
® Ovule/ CISIE
Correct Answer :-Gametes / JH®

10)

Question Stimulus :-

What are the tools used for agricultural purposes? /?ﬁf TSl & ﬁrq P H IUPIT ITIART ﬁﬂ'{ STd %'?
e Plough / ©d

e Hoe / Pald
e Cultivator /@?ﬂ??

e Plough, hoe, seed funnel and seed drill / @, $o@, divf v 3R divl af=

(33)



Correct Answer :-Plough, hoe, seed funnel and seed drill / 9, $aid, §i9 H1T 3
CIEEGILE]

11)
Question Stimulus :-

The pie charts below shows the heat energy balance of an engine at slow and high speeds. / CIE] m'é e Th STrF-[
31 df} 8k 3= wify R Sor St Siga= fewma B

P s .,
// ”/ \\L 3
Padiationloss Work Cutput RadiaionLoss Work Crurpur

=

Frction Loss B L _ ‘

\ # . FroctionLoss / /
—~ Cooling lozs

At low spead At high speed
Which of the following inferences would be correct? / ﬁ'ﬁ Ta CaC| J SIH ﬂ'&ﬁ 3-1?[?
® Work output is less at high speed than at low speed. / Can] Iared g fa &1 NG A I A R FH %l
® Work output is less at low speed than at high speed. / S I I T DI LEEL ¥ g fa wea %l

® The cooling loss is more at high speed than at low speed. / e BTﬁ' g ofa 1 GEEL H I A W
AT g1

® Friction loss is higher at low speed than at high speed. / gyur E'Iﬁ' 3= T B GEEL # g wfa w= et %I

Correct Answer :-Work output is less at low speed than at high speed. / Cau IdeT I A Bt GGEL # g
Tfa R F9 8|

12)
Question Stimulus :-

Two spheres of iron of the same diameter, one being hollow & the other being solid are heated to the same

temperature. The expansion observed in /?ﬁ% & 33f THTE A & M ford 9 Udh @rRadr 3R QI 3
T U 9o R T e wird €1 Ufee v g

® Hollow sphere is more /@Eﬁ e § 3rftre
® Solid sphere is more /?ﬁﬂ Mol & 3rfis

e Both will expand equally / S THET ¥U ¥ YATIYd gi
e Hollow sphere will not expand / @RI Ml YT &1 BRI

(34)



Correct Answer :-Both will expand equally / Gl THTF ¥0 ¥ TR g1

13)
Question Stimulus :-

Find the least multiple of 7, which leaves a remainder of 4, when divided by 6, 9, 15 and 18. / 7 BT <[dH gl

A1fere,s 6, 9, 15 3R 18 T AU FIM R AV 4 Bisar gl
* 74
® 94
° 184
® 364
Correct Answer :-364
14)
Question Stimulus :-

CANCELLED

When we run or play for some time, perspiration takes place because / SId gH $© JHI & ﬁ'l'q ag?f a1
Wad ¢ df gd g 37t § Fife

® heat is produced & keeps the temperature constant / HEHI Wﬁﬁ Eﬁ?ﬂ % 3R 19|t fRR 791 Iedl

g

® keeps the temperature higher / S ATIHTT §9T I8l %

e muscles of the body work & Heat is produced / TR &1 HIAURMAT ST Bl § 3R HOAT IdTIed
gt 7

® perspiration causes cooling through evaporation /tl?ﬁﬂT ATIHRUT & ATSHH | Ddaadn tIE?:IT:IT %

Correct Answer :-keeps the temperature higher / 3f¥® dTUHT §41 IgdT g

15)
Question Stimulus :-

In the figure, what is the value of ‘h’? / Gl'lip‘ﬁ ff, *h' T HIT °HIH %?

(35)



h="

&0°
r 55m

® 25m
. 25"~“Em
¢ 25 /B3 m

® 12.5m

Correct Answer :-25%'{3*T m

16)
Question Stimulus :-

The radii of 2 cylinders are in the ratio of 2: 3 and their heights are in the ratio
of 5 : 3. Find the ratio of their volumes. / 2 309 & &’ 2 : 3 & 3AJU # & 3R ITP]

SARAT 5 : 3 F U | &1 ST AT BT SguTd w1 |
® 4:9
e 9:4
* 20:27
* 27:20
Correct Answer :-20: 27
17)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /AR g

UTE BT AFTT B3 3R Ul BT IR 31 (S & A rgmfia geai R AR 39

(36)



Export of goods & Import of wheat

900 -
@ 000 .
£ 700
2 600 =
=z ann ~- Export
= 400 A 7 mimport
35U — - B
2 200 - — — — —
F o0

I:I T T T T
41-22 2324 2506 ar-o8 20-90
Year

During which of the following years highest export of wheat took place? / o a9 e aul & a?'F-T ﬁﬁ BT g9
i forata gam?

® 1989-90

® 1981-82

® 1987-88

® None of the above /B'Clﬂﬁﬁ s | '\ﬁ Tﬁi :Iﬁ
Correct Answer :-1989-90
18)

Question Stimulus :-

The chicken wakes up with the sun & roosts when the sun sets because its retina has / JuIT '{qﬁq & 1Y
ST 7T 8 SR qid & "1y faomy oxar § wife 59 e o

 Mostly cone cells / 3ifRI®dR P HIRST Bt Bl
® Mostly rod cells / Srf¥rpas TraTHT ﬁﬁ'lm Eﬁ?ﬁ '?fl
* Equal number of rod cells & cone cells / FHTT HBAT ¥ Trerept a»’r&mrq 3T Q’@ ﬁm '&ﬁ?ﬁ %'I
® Neither rod cells nor cone cells / 7T @ TATHT BIFABTE 3R 7 § P HIRBIT ghelt T
Correct Answer :-Mostly cone cells / 3Iftrpar W ﬁm Gl %I
19)

Question Stimulus :-

The value of (-1/4)3 x (-1/4)"2is equal to / (-1/4)3 x (-1/4)"2 ®19H
P R ¢l

(37)



° -1024

e -1026

e -1042

* -1062
Correct Answer :--1024
20)

Question Stimulus :-

The LCM of two numbers is 45 times their HCF. If one of the numbers is 125
and the sum of HCF and LCM is 1150, the other number is ./
T@T3HT BT LCM 316 HCF &1 45 AT gl uﬁﬁﬁﬁwm 125 § 3R HCF 9 LCM g 1150 g, @t

T W B [

® 215

® 220

® 225

® 235
Correct Answer :-225
21)

Question Stimulus :-

Two cubes each with 6 cm edge are joined end to end. The surface area of the

resulting cuboid is . / & 99 U@ &1 fFRT 6 QHI 8, & R &1 SitsT S1ar 81
ufkonfira a9y &1 Y8 85w § |

® 864 cm?
® 360 cm?
® 576 cm?
® 432cm?
Correct Answer :-360 cm?

22)

Question Stimulus :-
(38)



The product of 103,102 and 98 is /103,102 3R 98 & YUFHd &
e 10,29,588
e 100000
¢ 1
¢ None of these / 371'3[ ﬁﬁ's::rgf
Correct Answer :-10,29,588

23)
Question Stimulus :-

The electrolyte used in electroplating an aluminium spoon with Nickel is /Q‘g’&lﬁ'ﬂ'ﬁ THI & i%lg'q'cr daug |
1% a & a1y wad g1 aran fagaa srueea @

® Solution of Copper sulphate /$‘IITR' Tebe &1 faaa=

¢ Solution of Nickel-Aluminium sulphate /ﬁﬂ%b_cf Q@'&rﬁm Jbe P faeaa=
® Solution of silver nitrate /ﬁ!ﬁ? ?@E &1 oo

e Solution of common salt / YR FHG &I faaa-

Correct Answer :-Solution of Nickel-Aluminium sulphate / e Ygfafran e o1 faaa=

24)
Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for

answers) / 19 RRT T U6 &7 3reaa &3 3R UL BT I &1 (IW & T gafa qeii W TR #Y)

Export of goods & Import of wheat

an0 -
w 800 -
£ 700 -
2 0 | BEspor
E GDU 4 R Xpar
g JUD T - - - o !Import
3 30 A S :
s 200 _— — — — —_

I:l T T T T

#1-82 83-34 2526 27-28 29-90

Year

(39)



During which year highest import of goods took place? / fog af & aqaﬁ &1 a9 3Afw mard BT UT?
® 1981-82
® 1985-86
® 1987-88
® None of the above/m 3| '\ﬁaﬁ_s::lﬁ
Correct Answer :-1987-88
25)

Question Stimulus :-

Study the graph below and answer the question. (Consider approximate values for answers) /:ﬂ% %Q Eip|

UTH BT YT B 3N Y BT SR S| (ST & e SrgaT=a gl W faar &%)

Export of goods & Import of wheat

900 5-
w 200 4
E 700
5 B00H —— a8 .
- 500 +  — — . - Export
=
g 400 i ' mimport
5B A - : .
2 200
F oo

U T T T T
21-22 23-34 895-85 o7-28 20-90
Year

During which of the following years import to export ratio was one? / FfadAa feaaul & ??R'Fl 3mara | frata
DT SJUTd Uh UT?

® 1988-89
® 1985-86

® 1989-90
® None of the above/m = | aﬁ's‘ T'Ié’f

Correct Answer :-1985-86

26)

Question Stimulus :-

(40)



Give another name for " Ductless glands' / ‘difg<igia Uf¥ & fore & s 14 difoie
® Exocrine glands / ai%w Uty
¢ Endocrine glands / 3idHra Uy
® Sebaceous glands / 9T Ity
¢ Mammary glands / ¥ pIR|

Correct Answer :-Endocrine glands / 3d¥1d Yy

27)
Question Stimulus :-

Which among the following is not dispersed by wind? /ﬁl’H x| @ ﬁq’ arg g’ T'Ia aﬁl?ﬂ %?
e Aak seeds / 3® & §
® Sunflower seeds /ﬁéﬂ@ & oot
® Seeds of grass /9T * 9
® Seeds of Xanthium /@HFW & die
Correct Answer :-Seeds of Xanthium / SYTH & il
28)

Question Stimulus :-

Force needed to pull the block of wood is greater when weights are placed on it
because / d®sl & WS B! Wi & T a9 3ifY® a8 B oevd grll safd ITH g 1 @1 S Fife

® Force increases with increase in mass / SAHTA = q@ & 91y g | q@ 'Eﬂ?ﬂ' %I

® Force increases with decrease in mass / SHME A el & Iy 9 & ?{@ ﬁ?ﬁ %l
® Force increases the area of contact / ¢l TJud 833[ 3l daldl %I

® Force decreases the area of contact / dd I EREI aﬁEIE‘dT%I

Correct Answer :-Force increases with increase in mass / STHIA - | ?{@ & 1Y 9 A q@ fﬂ?ﬁ %I

29)
Question Stimulus :-
Uniform velocity is quantity. / T IHT T TR %I

(41)



® linear /XTI
* derived / ST
* scalar / 3ifcT
* vector / AT

Correct Answer :-vector / Ife2l

30)
Question Stimulus :-

The LCM of 2a2-7a+3 and 2a+5a-3 is / 2a-7a+3 3fI¥ 2a2+5a-3 BT LCM &
* (at+3)(2a-1)
o (a-3)2a+l)
o (a+3)(a-1)

® None of these / E:I'e[ I ﬁ'-.—fﬂ'(?r
Correct Answer :-None of these /?Fl'l?f I a»ﬁ-s‘ :I'eﬁ
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